$) SPECIAL CAB:

Specialized cabs for tractors

REPLACEMENT PARTS CATALOG

~ e 1t
wEDTa
R

T T—

Kubota M9960

Low Profile Tractor Cab

EQUIPMENT COMPANY

Specialized Equipment for Agriculture
REV 1612



NI

EQUIPMENT COMPANY

PO Box 655 - Vineburg, CA 95487

SPECIAL CAB

Kubota M9960 Low Profile Cab
Replacement Parts Catalog

MG Equipment Company specializes in unique tractor implements
designed specifically for vineyards and orchards.

This catalog is designed to detail all the parts and components for

SPECIAL CABS /ow profile cab designed specifically for the Kubota
M9960 tractor.

To ensure a long life of reliable and trouble-free service for your
implements, use only genuine SPECIAL CABS replacement parts.

It is our goal to meet or exceed the expectations of our customers and to
offer unsurpassed service and parts support. We partner with each of our
manufacturers to provide the best possible after-sales-support.

We thank you for your valued business. We remain at your complete
disposal for any information you require regarding any of our products.

For Replacement Parts Sales and Information contact:

MG Equipment Co.

PO Box 655  Vineburg, CA 95487
mgequipment@gmail.com

Tel: (707) 996-2605
Fax: (707) 996-3405
Mobile:  (510) 813-2046



§ sPECIAL CAB Kubota M9960 Low Profile Cab

FRONT WINDSHIELD

e **Note: RIGHT and LEFT are determined by the operator sitting in the tractor driver’s seat

ltem#  Part# Description
1  SC-C10549 Front windshield glass

2 SC-P10211  Gasket/seal (glue-on) L =415 cm
(when ordering this seal, please indicate length needed)

SC-M10174K  Bolt + washers + grommets to fix glass
SC-M10065K L-braket + screw + cap nut

SC-111354  Side mirror - Right**

SC-111357  Side mirror - Left**

o O | W

Page 1

Rev. 1612



$) sPECIAL cAB: Kubota M9960 Low Profile Cab
CAB DOOR GLASS

Inside
Cab

ltem# Part# Description ltem# Part# Description
1  SC-C10751 Glass - Door pane - Kubota M9960 5 SC-P10211  Gasket/seal (glue-on) L =200 cm
2 SC-P10211 Gasket/seal (glue-on) L = 440 cm (when ordering this seal, please indicate length needed)

(when ordering this seal, please indicate length needed)

3  SC-M10174K Bolts + washers + grommets
4  SC-C10752 Glass - Side deflector pane

SC-M10065K L-bracket + screw + cap nut
SC-M13632K L-bracket (dual sided) + screw
SC-S11224K Door hinge (meta) - kit
SC-R15354  Steel door hinge plate (inside cab)

O |0 ||

Page 2 Rev. 1612



§ sPECIAL CAB Kubota M9960 Low Profile Cab

CAB DOOR GLASS

-l

**Note: RIGHT and LEFT are determined by the operator sitting in the tractor driver’s seat

ltem#  Part# Description
1 SC-C10751  Glass - door pane (Left)

2 SC-P10211  Gasket/seal (glue-on) L = 440 cm
(when ordering this seal, please indicate length needed)

3 (seepage4) Door latch hardware
4 SC-S11082  Door tubular handle/rail - LH side

Page 3 Rev. 1612



$) sPECIAL cAB: Kubota M9960 Low Profile Cab

DOOR HARDWARE

ltem#  Part# Description
SC-M12747K  Door handle assembly (exterior)
SC-M10695 Internal lock assembly

SC-M13216 Gasket for door lock assembly (interior)
SC-M12804  Cover for door lock assembly (interior)
SC-M12722  Door keys (set of 2 pcs)

SC-M10764  Door opening piston (L =330 mm - 13")
SC-M10946  Spherical joint for gas door piston
SC-U10083  Cap nut - M8

SC-M10151  Door opening limit strap with flanges

10  SC-111692  Door locking catch (threaded stud)
SC-U10038  FH bolt - M8 x 30 mm

[EEN

O |00 |N o oD Jw (N

Page 4 Rev. 1612



$) sPecIAL caB: Kubota M9960 Low Profi

le Cab

RH FIXED SIDE GLASS

**Note: RIGHT and LEFT are determined by the operator sitting in the tractor driver’s seat

ltem#  Part# Description
1 SC-C10754  Glass - RH fixed pane
2 SC-P10211  Gasket/seal (glue-on) L =410 cm
(when ordering this seal, please indicate length needed)
3 SC-M13632K L-bracket (dual-sided) with screw

4 SC-P10215  Gasket/seal for fender
(when ordering this seal, please indicate length needed)

Page 5

Rev. 1612



$) sPECIAL cAB:

Kubota M9960 Low Profile Cab

LOWER FRONT FIXED GLASS / HOOD GASKET

ltem#

Part# Description

1

SC-C10750 Glass - Lower front fixed pane

2

SC-P10175  Gasket/seal (U-clamp) L =190 cm
(when ordering this seal, please indicate length needed)

SC-M10174K Bolt + washer + grommets

SC-M10065K L-bracket + screw + cap nut

Page 6

Rev. 1612



$) sPECIAL cAB:

Kubota M9960 Low Profile Cab

REAR GLASS WINDOW

ltem# Part# Description ltem# Part# Description
1  SC-C10753 Glass - Rear window pane 6  SC-M10020K Piston support block / bolt / washer kit
2 SC-P10175 Gasket/seal (U-clamp) L =230 cm 7  SC-M11834  Rear window opening piston - L=290 (11.5")
(when ordering this seal, please indicate length needed) 8  SC-M10078K Hinge kit - rear window (nylon)
3 SC-M11060 Wiper arm 9  SC-M10085 Spray nozzle
4 SC-M12079 Wiper blade 10  SC-M13000 Rear light fixture - Round (complete kit)
5  SC-M11851K Rear window latch kit (see page 27 for additional light fixture parts)
11  SC-M11400  Wiper fluid tank

Page 7

Rev. 1612



$) sPECIAL cAB:

Kubota M9960 Low Profile Cab

REAR GLASS WINDOW

ltem# Part# Description ltem#  Part# Description
1 SC-M12294  Wiper motor 6 SC-M11851K Rear window latch kit
2 SC-M10020K Piston support block / bolt / washer kit 7 SC-M10031 Rear window latch plate
3 SC-M11834 Rear window opening piston - L=290 (11.5") 8 SC-R17523  Triangular metal closure plate
4 SC-M10946 Sperical joint for gas cylinder 9 SC-M12433  Thumb screw
5  SC-U10083 Cap nut - M8 (with black cap)

Page 8

Rev. 1612



$) sPECIAL cAB: Kubota M9960 Low Profile Cab

FRONT WINDSHIELD / WIPER

ltem#  Part# Description ltem#  Part# Description
1 SC-M11108 Wiper arm - panographic 5 SC-M10065K L-bracket with screw + washer + cap nut
2 SC-M13284  Wiper blade 6  SC-M12294  Wiper motor
3 SC-M12441 Spray nozzle 7  SC-M10089 Rubber plug for window glass
4  SC-M13198 Spray nozzle tubing 8 SC-M14142 Plastic cover/shield

Page 9 Rev. 1612



$) sPECIAL cAB: Kubota M9960 Low Profile Cab

WINDOW GASKET MATERIAL GUIDE

g1
* %

Part# SC-P10175 Part# SC-P10211 Part# SC-P10098

U-Clamp Gasket Self-Adhesive (Glue-On) U-Clamp Gasket
90" Gasket Seal Gasket Seal Straight Seal
Gasket
Used for: Used for: Used for:
- Rear windshield - Front windshield - ABS rear roof panel
- Lower front fixed glass - Door glass / frame - A/C box filter cover

- Side deflector glass

Note: Rubber gasket material is sold “per Meter” length. Please
specify length needed when placing an order for this bulk
material.

Page 10 Rev. 1612



$) SPECIAL CAB: Kubota M9960 Low Profile Cab

ROOF PANEL

ltem#  Part# Description

1 SC-M13023 Roof panel (ABS) - flat top
2 SC-112035  Kit to install roof panel (screws + washers)
3 SC-V99001 Black silicone sealant for roof panel

Page 11 Rev. 1612



$) sPECIAL cAB: Kubota M9960 Low Profile Cab

ROOF PANEL (INTERIOR)

ltem#  Part# Description

1 SC-M14182 Interior cab ceiling lining material
2 SC-M10187 Grommet for ceiling material (plug)
3 SC-M14136 Plastic rear ceiling cover (curved)
4 SC-M10038 Interior light fixture

Page 12 Rev. 1612



$) sPECIAL cAB: Kubota M9960 Low Profile Cab
CAB INTERIOR - MISC. ITEMS

ltem#  Part# Description

1 SC-M12294 Wiper motor assembly
SC-M14142 Plastic cover plate
SC-M10089 Rubber grommet / plug
SC-M14125 Plastic coverplate (oval)
SC-112050  Thumb screw + plastic washer
SC-110755  Sun visor

(o3 {62 I F- OV |\ S}

Page 13 Rev. 1612



$) sPECIAL cAB: Kubota M9960 Low Profile Cab

CAB INTERIOR - SHIFTER/LEVER BOOTS

ltem#  Part# Description

1 SC-M14206 Shift lever cover (boot) - 3-point levers
2 SC-M14207 Shift lever cover (boot) - shift gears

Page 14 Rev. 1612



$) sPECIAL cAB: Kubota M9960 Low Profile Cab

CAB INTERIOR - MISC. ITEMS

ltem#  Part# Description

1 SC-R17574K Pull lever cover + foam kit
2 SC-R17545K Throttle pedal cover + foam kit

Page 15 Rev. 1612



§ sPECIAL CAB Kubota M9960 Low Profile Cab

CAB INTERIOR - MISC. ITEMS

L]

winl

ltem#  Part# Description
1 SC-M11528  Rubber plug
2 SC-M10882  Rubber grommet - D. 36 mm
3 SC-R17572K Pedal coverplate + foam kit

Page 16 Rev. 1612



§ sPECIAL CAB Kubota M9960 Low Profile Cab
AIC SYSTEM

1
1
1
1
1
1
1
1
1
1
1
1
1
J

ltem#  Part# Description ltem#  Part# Description
1 SC-S11222 Metal A/IC box / frame 6 SC-M13958 Air vent mouthpiece
2 SC-R16899 A/C box coverplate (steel) 7 SC-M13959 Reducer fitting for air duct
3 SC-M14107 Plastic cover - A/IC face-plate 8 SC-R17577 Protective steel shield (under A/C box)
4 SC-111587  Themostat + probe 9 SC-U10086 Bolt - M6 x 16 mm
5 SC-110236  Air vent mouthpiece + collar 10 SC-U10071 Flat washer - M6 x 18 mm

Page 17 Rev. 1612



$) sPECIAL cAB: Kubota M9960 Low Profile Cab

A/C SYSTEM

Item#

Part#

Description

1

SC-M13909

Complete A/C assembly

SC-M14104

Fan motor assembly - circular 12V

SC-M14109

Water heater coil

SC-M14216

AIC evaporator coil (copper)

SC-111587

Thermostat with cable

SC-M14110

Expansion valve (complete kit)

SC-P10236

Flexible air tubing (paper) - D. =51 mm

O |IN o | Jw N

SC-M13309

Expansion valve (TEC)

Page 18 Rev. 1612



® sPECIAL CAB: Kubota M9960 Low Profile Cab
A/C SYSTEM

ltem#  Part# Description ltem#  Part# Description
1 SC-S11126  A/C filter holder / cover 6 SC-M13990 Adjustable clamp - 68-85 mm
2 SC-P10098 Gasket/seal - L =100 cm 7 SC-S11143  Air intake tube (steel) with flange
(when ordering this seal, please indicate length needed) 8 SC-M11066 Thumb screw - M6 X 20 mm
3 SC-M13246 Filter cartridge (paper) 9 SC-U10071 Flat washer - M6 x 18 mm
SC-M13245 Filter cartridge (activated charcoal) 10  SC-M10876 Flat washer (plastic) - M6 x 20 mm
4 SC-M13790 Pre-filter - round / spinner 11 SC-U10050 Screw - TE M6 x 20 mm

5 SC-M14178 Rubber “L" - 90 degrees

Page 19 Rev. 1612



§ sPECIAL CAB Kubota M9960 Low Profile Cab
AIC SYSTEM

ltem#  Part# Description ltem#  Part# Description
1 SC-M12531 Condenser coil 5 SC-M14033 Receiver dryer
2 SC-S11221 Condenser support frame/assembly 6 SC-M14127 Support / holding strap
3 SC-M14168 A/C hose - Receiver dryer to condenser 7 SC-M12659 Pressure switch
4 SC-M14167 AJC hose - Compressor to condenser 8 SC-M14169 A/C hose - Receiver dryer to evaporator

Page 20 Rev. 1612



$) sPECIAL cAB:

Kubota M9960 Low Profile Cab

A/C SYSTEM

A 62 A 1610 LxLE

5.4 62 A 1801 W £

ltem#

Part# Description

1

SC-M14167 AIC hose - Compressor to condenser

SC-M14166 A/C hose - Compressor to evaporator

SC-M13166 Drive belt

SC-S11219 Compressor support assembly

[S2 18 E-N [SO I 1\ )

SC-M10382 A/C compressor

Page 21 Rev. 1612



$) sPECIAL cAB:

Kubota M9960 Low Profile Cab

A/C SYSTEM - HOSES

ltem#

Part# Description

1

SC-M14167 AIC hose - Compressor to condenser

SC-M14168 AIC hose - Receiver dryer to condenser

SC-M14169 AIC hose - Receiver dryer to evaporator

2
3
4

SC-M14166 A/C hose - Compressor to evaporator

Page 22

Rev. 1612



$) SPECIAL CAB: Kubota M9960 Low Profile Cab

A/C SYSTEM - WATER HOSES

ltem#  Part# Description ltem#  Part# Description
1 SC-M14170 Water hose - L = 200 cm 6 SC-M11937 Hose clamp - 16-24 mm
2 SC-M13725 Water hose (L-shaped) 7 SC-M12416 Copper washers - 3/8”
3 SC-M13654 Water valve 8 SC-M14173 Water hose - L = 120 cm
4 SC-M14164 Hose adapter - 3/8" x 16 mm 9 SC-M13509 Water hose (hook shaped)
5 SC-M12900 Hose coupling - 16 mm x 16 mm

Page 23 Rev. 1612



$) sPECIAL cAB:

Kubota M9960 Low Profile Cab

ELECTRICAL CABLES / FUSES / RELAYS

ltem#

Part#

Description

1

SC-M14174

Wire harness - Cab to engine

SC-M13120

Spiral wire sheathing

SC-M11771

Fuse holder

SC-M11770

Fuse - 40A (Orange)

SC-M10515

Relay - 12V/70A

(o1 K2 I F= OV |\ S )

SC-M10513

Relay - 12V/40A

Page 24

Rev. 1612



$) sPECIAL cAB:

Kubota M9960 Low Profile Cab

CONSOLE / SWITCHES / FUSES

ltem#  Part# Description ltem#  Part# Description

1 SC-M14141 Plastic console / control panel 4 (see page 26) Fan speed switch + round knob

2 SC-M10514  Fuse box assembly 5 SC-M10717 Toggle switch - windshield wiper / sprayer
SC-M11184  Fuse - 10A (Red) 6 SC-M10715 Toggle switch - rear working lights

3 SC-M10453 Fuse - 15A (Blue) 7 SC-M10713 Toggle switch - A/IC compressor
SC-M10632 Fuse - 20A (Yellow) 8 SC-M12319 Blank toggle switch coverplate
SC-M10630 Fuse - 5A (Beige)
SC-M10631 Fuse - 7.5A (Brown)

Page 25

Rev. 1612



$) sPECIAL cAB: Kubota M9960 Low Profile Cab

FAN SWITCHES

ltem#  Part# Description

4A  SC-M10378 Fan blower switch (slanted terminal blades)
4B SC-M12758 Fan blower switch (straight terminal blades)

Page 26 Rev. 1612



$) sPECIAL CAB: Kubota M9960 Low Profile Cab
REAR WORKING LIGHTS

ltem#  Part# Description

1  SC-M13000 Rear light fixture - Round (complete kit)
2 SC-M12622 Light bulb 12V - 55W
3 SC-M12474 FM electrical connector for rear light

Page 27 Rev. 1612



$) SPECIAL CAB:

Specialized cabs for tractors

For Questions or Technical Assistance Contact:

MG Equipment Co.
PO Box 655

Vineburg, CA 95487

Tel: (707) 996-2605
Mobile: (510) 813-2046
mgequipment@gmail.com

REV-1612



